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QUESTION 1

Which statement is true about Arc Sight Identity View? 

A. It uses the Arc Sight Actor Model Import Connector to populate and maintain the model in sync with your identity
Management System (IDMS) 

B. It is one core component of ArcSight ESM system without separate licensing. 

C. It uses the Arc Sight Network Model Import Connector to populate and maintain the model in sync with your Identity
Management System (IDMS) 

D. It uses the Arc Sight Asset Model import Connector to populate and maintain the model in sync with your Identity
Management System (IDMS) 

Correct Answer: D 

 

QUESTION 2

What is the purpose of the ArcSight ESM? 

A. Enables a security bus that allows devices to communicate 

B. Enables situational awareness and visibility of the security risks across an organization 

C. Enables security device management using a common browser-based Management Console 

D. Enables security integration between disparate devices 

Correct Answer: B 

 

QUESTION 3

The ArcSight ESM uses which component to gather events? 

A. Nodes 

B. Smart Connectors 

C. Collectors 

D. Adapters 

Correct Answer: B 

 

QUESTION 4

What is a function of a Connector Appliance? 
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A. To provide a Smart Connector management facility in logger-only environments 

B. To provide a secure web-based console to ESM 

C. To profile common attack patterns on the network 

D. To perform advanced correlation evaluation 

Correct Answer: B 

 

QUESTION 5

How are CIPs licensed? 

A. CIPs are included as standard in Logger 

B. CIPs are additional, paid for components. 

C. CIPs are included as standard in Connector Appliance 

D. CIPs are included as standard in ESM 

Correct Answer: A 

 

QUESTION 6

Which schema group contains the timestamp of the event and name of the event? 

A. Source Event Schema 

B. Category Event Schema 

C. Agent Event Schema 

D. Root Event Schema 

Correct Answer: A 

 

QUESTION 7

Which function is performed by the ArcSight ESM Manager? 

A. Aggregates events 

B. Normalizes event data into CEF fields 

C. Receives raw events from devices spread throughout the network 

D. Prioritizes events 

Correct Answer: B 
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QUESTION 8

Which component performs the data collection and normalization? 

A. Data monitors 

B. FSM manager 

C. Smart Connectors 

D. Correlation engine 

Correct Answer: C 

 

QUESTION 9

What is an ArcSight Logger architecture component? 

A. Oracle Database 

B. Receivers 

C. Pattern Discovery 

D. Correlation Engine 

Correct Answer: D 

 

QUESTION 10

Which feature of Arc Sight Smart Connectors reduces the quantity of events sent to the ESM Manager? 

A. Normalization 

B. Host name lookup 

C. Categorization 

D. Aggregation 

Correct Answer: D 
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